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2 5 R bR HEAL TR ZEHTD) kit 55 ﬁ%;ﬁ e/ R ES
1 | WA 665 1-2 | 54.76 | —=—T | —| & 602 REE—
2 | #WF 665 2-1(55.86 | —FE—fT| K| & 614 AEE—
3| MK 665 2-3 |54.76 | —F—T | —H| & 602 IR
4 | EWA 665 2-4 | 54.76 | —E—JT | —F| & 602 IR
5 | WA 66525 |54.76 | —=—T | —HK| & 657 AR
6 | WA 665 2-8 | 54.76 | —E—JT | —H| & 602 IR
7| HEWMK 66532 |54.76 | —E—T | —F| & 602 IR
8 | MM 665 3-3 |54.76 | —E—)JT | —F| BH 602 N
9 | FWA 665 4-2|54.76 | —=E—JT | —HK| =& 657 AEE—
10 | #EHHF 66 5 4-7 | 54.76 | —E—JT | —2% | & 602 IR
11 | #ERA 66 54-8 | 54.76 | —=—T | —K| & 602 NEE—
12 | #EWAT 66 5 5-1 | 55.86 | —E—T7 | —K| & 614 AEE—
13 | #6652 |54.76 | —E—T | —2%| & 602 IR
14 | #EHHF 66 555 |54.76 | —E—T | —2%| % 602 TN
15 | HEWK 66 556 | 54.76 | —=—JT | —2| £ 657 NEE—
16 | BRiAT 66 5 5-8 | 54.76 | —E—7 | —FK | K 602 N
17 | WA 66 5 5-10 | 53.56 | —= | K| &K 589 RER
18 | BiRiAf 67 5 1-2 | 51.59 | =% | =K &K 567 RERE=
19 | WA 67 5 1-3 |52.69 | —E—T7 | —K| & 580 R Y
20 | HRHAT 67 5 1-7 | 53.69 | — =T | =K | 7K 591 IR
21 | BRAT 67 5 2-6 | 53.19 | =% —T | =& | & 585 iy
22 | EWA 675 3-1 [53.49 | —=F—T | —FK| & 588 AEET
23 | EMAT 67 5 3-2 | 51.59 | == | 2| £ 619 rEE=
24 | BRHAT 67 5 3-4 | 52.69 | —m—T | K| 7K 580 IR
25 | HRHF 67 5 3-5 | 52.69 | —=E—T | | £ 632 N EY
26 | MR 675 3-7 |53.69 | — =T | —E| & 591 Y
27 | BiRHA 67 5 4-1 | 53.49 | == —T | =% | & 642 NERR
28 | WRHA 67 5 4-5 | 52.69 | — =T | =K | 7K 580 IR




29 | HRAT 67 5 4-6 | 53.19 | —E—T | —FK| & 585 N E R
30 | MR 67 5 5-2 | 51.59 | —E | = | &K 567 NEE=
31 | MM 675 5-3 |52.69 | —=—T | —| & 580 IR
32 | WA 67 5 5-4 |52.69 | —=E—T | —%| £ 632 e
33 | MR 675 5-5 |52.69 | — =T | —K| & 580 Y
34 | BB 67 556 |53.19 | —H—T | —E| &K 585 ST Y
35 | MK 675 5-7 |53.69 | —=—T | —| & 591 IR
36 | MK 685 5-1 [51.94 | —E | =% | & 623 REEN
37 | MR 705 5-1 | 51.94 | —E | = &K 571 REEN
38 | EMAT 705 7-1 | 51.94 | == | 2| £ 623 REEN
39 | MK 725 5-1 |51.94 | == | 2| £ 623 REEN
40 | EWA 725 6-1 | 51.94 | =% | =% K 571 REEN
41 | HEMAT 735 2-1 [ 51.94 | == | 2| £ 623 REEN
42 | HEMAT 735 6-1 [ 51.94 | == | 2| £ 623 REEN
43 | EWK T4 5 6-1 [ 51.94 | —E | =% | & 623 REEN
44 | EWAT 75 5 5-1 | 51. 94 o= e/~ 623 NEBES
45 | WK 78 5 5-4 | 51.68 | —E—T | —K | & 620 REEN
46 | FWA 78 5 6-3 | 48.04 | —E—JT | —F | £ 576 ~ER+L
47 | LA 108 5 5-1 | 55.42 | == | =K | & 665 REENL
48 | LK 108 5 5-2 [ 55.08 | = | K| & 661 REET
49 | ZAKF 1095 5-2 | 55.08 | == | =2 | £ 661 N
50 | LA AT 1115 5-2 | 55.08 | = | K| & 661 mEET
51 | AR 1175 4-1 | 71.8 -G e~ S 790 REEt—
52 | Ak 32 5 3-1 | 50.51 | —E | | K 556 | Rt
53 | ALK 32 5 6-1 | 50.51 | — —%| 7 556 NEE+
54 | Ak 32 5 7-1 | 50.51 | == | K| K 556 REET
55 | AR 335 7-1 | 50.51 | —E | K| K 556 | Rt
56 | ALK 355 1-4 | 50.51 | == | K| K 556 NEE+
57 | Ak 36 5 5-2 | 50.03 | = | 2| K 550 rEEtT=
58 | AT 36 5 7-2 | 50.03 | —E | K| K 550 | mEEt=
59 | AR 37 5 7-4 | 50.55 | —E | K| K 556 | Rt
60 | CiLAT 38 5 6-3 | 50.03 | = | K| K 550 rEEt=
61 | AbFT 39 5 6-2 | 50.03 | —= | 2| K 550 rEEtT=
62 | AR 395 6-3 | 50.03 | —E | | K 550 | mEEt=




63 | AR 40 5 1-3 [ 49.99 | —= | 2| K 550 rEEt=
64 | AR 41 5 1-3 [49.99 | —=E | 2| K 550 | mEETt=
65 | AR 41 5 1-4 | 50.51 | =% | K| K 556 | ARt
66 | CALAT 41 5 7-3 149.99 | —E | K| K 550 | mEEt=
67 | ALKt 42 5 1-4 | 50.51 | == | =K | K 556 AEET
68 | CAbAT 42 5 2-1 | 50.51 | =& | K| K 556 | ARt
69 | AbAT 42 5 2-4 | 50.51 | = | K| K 556 | Rt
70 | Ak 42 5 6-1 | 50.51 | = | K| K 556 REET
71| SCAbA 43 5 1-1 | 50.51 | —E | 23| K 556 | ARt
72| AR 43 5 1-2 149.99 | —E | 2| K 550 | mEEt=
73| AR 43 5 6-2 149.99 | —E | 2| K 550 | mEEt=
74 | AN 43 5 6-4 | 50.51 | = | 2| K 556 | ARt
75 | SCAA 43 5 7-1 | 50.51 | —E | K| K 556 | Rt
76 | AR 43 5 72 149.99 | —E | 2| K 550 | mEEt=
77| AR 43 5 73 149.99 | = | 2| K 550 rEEt=
78 | SCAkAT 43 5 7-4 | 50.51 | = | K| & 606 REET
79 jﬁf:fzg & 72.66 | = | ZFEK| fK 799 A
80 jﬁfﬁf 54809 —E® T K] B 529 | mEETI




